6.1
. d
—k=0 k
(i) =
(i) %xnznx“‘l n ( )

... d d

(|||)&[kf(x)]:k&f(x) K

. d d d

(iv) &[f(x)ig(x)]:&f(x)i&g(x) ( )

d d d
(V) &[f(x)g(x)]=g(x)&f(x)+f(X)&g(X) ( )

d d
)i{f(x)}_g(X)de(X)_f(X)ng(X)

(vi = g(¥) =0 ( )
dx| g(x) 9%(x)
6.2
)
n t nit)=2t—=t
(t) :
0<t<8 N C C(n) = 20 + 30n
y=f(x)
-1 -1 1
x=17(y) f T
In x
dy_dydu o1
dx du dx dy dy

dx

11



y cm X cm
y2+xy—12=0
_—x+\/x2+48
2
f(x,y)=0
X $P
6.3 & In x
2 n
eX=1+§+X_+...+X_+...
1 2 n!
iex:ex
dx
Inx e
_ a~3X
VLT
(4x+5)

d ot _f(n d
i) —e =e W —1f(Xx
() dx dx )

1

., d d
(i) &Inf(x)z f(x)&f(x)

12

247 cm?

x5—x3y+ y3— y4+1:0

X% + 5xP + 25P2 = 4500

d 1

—(Inx)==

dx( ) X
y=log,vx+1 y=x"



6.4

Xe

%2 +1

I3 _Bx+ 7

13



